fFaa wimmyasy, yiadt e Sl
H TR WEST 31 WA gan ?

(A) STF 2 F

(B) W& amamm F

(C) T HFRO @

(D) oo w19 T

WA & 4% § Sd T9a9 F:1 qE7
(A) gfFFfaa W=l womga o

(B) T g¥EIfad U9 Qunet o
(C) T& FE1Ilad #=19 &R °

(A) ¥MTE (B) FF®

(C) S (D) vmestel

= 4 5 fog su9 =afs 3 geet
AR HHISFEGIl F FAAR S
q o a1 ?

(A) faferam sma

(B) 9 faafa=

(C) sFetesiet Fi+a

(D) S \refE

‘wiegr Mt fEE wer mar un ?
(A) FaTiaa T

(B) HG@ FeH AR

(C) @A A=A TR @M

(D) TNTE FON TA
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11.

12.

|3‘

14.

1006 2. % w7 & afife shmEem
@] AR fwr w2
(A) 7. ot faes
(B) S ErS9d T
(C) Zr1wTd =i
(D) 3nfa= Wy
TAT$e W Wz HREHl FAA M
wfag Wik fe & gafya @
(A) TgFE (B) I
(C) deetd (D) TEH
‘yriE’ gft & UF FerE @ e,
S T g @ A i @ e
(A) 9@ H (B) 9e13 ¥
(C) @ § (D) 3 A F§ A&l
=fhoil @ T TE A Wy At €
(A) T2 faadt (B) TH7EHEA
(C) T
(D) it Rl dad
fafafed 5 8 fFg 30 9 Thew @
fonfrm Afeal a&dt &2
(A) 3 (B) W&
(C) ®ad (D) TT®

. ® A wgEl 4 & A
o B -
(A) Fl?’i,z[iﬁaf
(B) @gd, 9
(C) ¥i&3, #9 3iF TS &M
(D) &€, 913
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16.

17.

18.

‘e foad A w1 HEa T

€72

(A) Fic®wma  (B) et

(C) TER (D) <o

fife . T, agEd SH AT e .

H g 9 2

(A) gufarl @4 (B) HIEEIE

(C) T (D) ¥IHFE A
o @ FEA-W FE T 8 ?

(A)"E‘Eﬂ (BJ“@‘T‘“

(C) TG (D) -l

ﬁﬂﬁf@ﬂﬂﬁmﬁmﬁm"
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19.

20.

21.

22.

(Lt)ﬂﬁﬁfﬂﬁ@?ﬁﬁuﬁﬁ

3= Zdl @
() A @ i H A S
yrpfad wEn 2! ':L.-.r”l R Ly

(A) 3FTA 2H1(B) F21

(C) famm (D) ¥ @ A T
Fr 6 @ A ETEARETESE T <@ 22
(A) Tel® (B) HFIT

(©) = (D) TF
e 4 T S T
w1 TF A TAE ?

(A) Fadel  (B) W

() sifsd (D) A

s aeta 3R Sa-Sq B W
+ ¥9 °§ WHS faza =1 Tad T8t
Az e FrefcEd &R <
W aafiyd € ?

(A) 3r=MA . (B) EEIS

(C) &FgEen (D) Frer

T2 (NATO) 1 qEAed Fal & ?
(A) THeH (B) A

() =g@® . (D) 9@
Fauvzia \AAHT  (Amnesty

International)

(C) fava 4% &1 (% @S @
(D) fava smddarg 4 @83 & fom
T F TH AR B



25.

26.

217.

fava wareea G134 (WHO) & FER
w1 st Wen § @ w5l
fr U0 9 &1 @ 2

(A) T&H (B) wUEH

(C) weif@ (D) Fdlew

ffe YRa & HHA-FEA- 9 A
IS S g 2

(A) 3Tl WA (B) wfvedt &
(C) Tt &=

(D) 3% AR wEA &

Hegoid 1Y fven 9 39 R gaigd
€, f9 wanr fawra galuq €
(A) 9Ifg@  (B) RS

(C) wfaa (D) fa==mt



28.

29,

30.

31.

32.

35,

34.

RIRE IEE T el x o) R T A

(A) 9996 3y

(B) ToTws amafyg

(C) ===

(D) oW =1 vifaq & ansm W A
fava s ke &7 wrn s @ 2
(A) 4 O (B) 28 W4

(C) 22 "d (D) 17 wH

“Im < fEaR Halha ® 2

(A) Tadt (B) Wit

(C) wawfa « (D) Wil

e o fFg R W oam-1R W
FTE ¢ ?

(A) FETGR  (B) TR

(C) g& (D) FH |l

FU W FATF FIEEen w1 [
fFe WaR F1 ayeforeen ® a5 @ 7
(A) 39 fawfag sdemasen «1
(B) GSitamel sreisaaeen &

(C) fa=fag wei=raren &

(D) fafsa syeferaeen =

fife= aqa &1 9ot 9 a2
(A) ST T

(B) fFaifaa a=qq
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36.

37.

38.

e 1 49T Hel 9 F1 T8 2
(A) wEaR (B) 3R

(C) A% (D) 3eHIER

HY o9 Hal A™EM & 9 39l
(A) TZurd

(B) T4 ©i® €9 & A

(C) HaT=a =rae/d & q&d =T
(D) WHHHA]
gfgenz & fag =9 |9 | i@
Requr favges  fagd 33% SIR&W
zﬁlgﬁtﬂqmﬂm%,m'ﬂaqmﬁ
z?

(A) 98T

(B) {HZ ud fauE |l

(C) =AAqTicAHh1

(D) Bl Al ud Y= Al
qqq qRATE HI A 7
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39,

41.

42,

43.

(A) T4, Ud. =941

(B) Sit. &, MaEd

(C) TrR19rd Rt

(D) fRastome Tea

frmirs ng 2

(A) BRA et Infizan & sy 1 fom
pR G

(B) =T &1 WS e wm

(C) 3PN g

(D) 917 2N U8 TEAZ (tied) B A
s g

TF H T gonds o s m =)

S S # 2

(A) T2 (B) T

(C) WHRTE (D) e afa

A YRR H, Tad g a0 o

9M Al d RHE- 22

(A) FE7 (B) =fceran

(C) S (D) Hferdier

FHl FUS Gl T H1 amen mf 29

€, HifF

(A) T4 F 37=3 TU+ 2 &

(B) T9 % 7= UMF &1 ©

(C) T % e fams e 2

(D) gt o= § Wi 7 €

< T v % i f S

3@ 9 §Fd B ?

(A) 2 (B) 4

(C) 1 (D) 3=

A



44.

45.

406.

47.

va fedl IER uig @ M Wl
JACHS 9§ JEfd w19 F I3
% g% g yafva fea wie, @ 98
(A) FeITeA Tare

(B) FoiagiA W W

(C) Wief Tamm

(D) Wi 9rd &am

ufy @ e F HE-GL TR A
feeman § 2

(A) g4 (B) HT

(C) gewfa (D) W

g4 # fao | frad @ # €
(A) 9T (B) ®:

(C) 3113 (D) |

2l deex, foe AF o7 €



48.

49,

0.

52.

feredt g =1 fAfrsa somm &1 273°

T AT W 25 foe. €, A%

z/4 fror Tar Smu, @ Wy 99 9 39l

T & FomE F AP w1

(A) 100 fieft (B) 50 fireht

(C) 75 firzit (D) 200 firett

urpfrs @ a1 Frefafa 6 8

FA-T/A FUF STHA 2/8?

(A) 30® 94 A F a7
FA

(B) T8 Mfrn grgrmea w fagm 2

(C) 38 wam 3T & fmm o
fem = 2

(D) & CO @Al H, fagm 2

m@mﬁaﬁu@mw%-

(A) &=1 9 ((B) Amammd

(C) ®Fen (D) FAeEged

HF-H U 3= Al & mg e

YR Tl 22

(A) == (B) 9

(C) e (D) &=

Prafafaa 4 9 w4 faga F1 994

3= ATed &2

(A) Tegfafad (B) i

(C) el (D) =ET

fr o | feg witas &1 I
3l el el 772

(A) 3mifTa

(B) HcHT BRAFHES

(C) FTE-SRATFES

(D) WI3TH-12



54.

S3.

56.

57.

58.

formd U@ g o 9 S 22

(A) R (B) g

(C) &t wfesal (D) 34

frgat STavasdl el widl €7

(A) T (B) 9T

(C) &< (D) d™

facifafaa o 9 waifus o9 nfa o

faaRor s Fa 8?2

(A) 3 (B) 9

()% (D) 74 ° B T

(A) TH 9% (B) Yh a%

(C) ¥d9d 9% (D) 399 q I3 &l

sitg @ Trifes g (s gfe) o

(A) e & aupa - fa i
el ®

(B)tﬁmﬁq"mwﬁ?{mﬁm
G



59.

60.

6‘.

62.

63.

64.

(C) =it Frayuf

(D) 399 A = T8

grra: arrd frafafaa & sigst
T N F HHHd wE e-
(A) FIT0H (B) H=l

(C) &iead (D) @™
Tfe wifad B @-

(A) Ufram@ (em=mvE) |
(B) uarsias o N
(C) 7Fa (faar) o

(D) fregedt d

Choose the word which is most nearly
the SAME in meaning.

Frugality

(A) economy (B) extrentiy

(C) foolishness (D) enthusiasm
Choose the word opposite in
meaning to given word.

Reject

(A) Accept (B) Agree

(C) Refuse (D) Allow

Fill in the blank with suitable
prepositions.

Cigarette smoking is injurious ..........
health.

(A)to (B) for

(C)on (D) at

Give ONE WORD for the following -
utterance. :

A period of hundred years.
(A) comedy (B) century
(C) Lomber (D) Dismal



65.

66.

67.

Four words are given in question out
of which only one word is correctly
spelt. Find the correct spelt word and
mark your answer.

(A) Adalosent (B) Adolascent

(C) Adolescent(D) Adaloscent

A part of the sentence is bold. Below
is given alternatives to the bold part
at (A), (B), (C) which may improve

‘the sentence. Choose the correct

alternative and mark your answer.
She is quite without affection and has

no false pride.

(A) admiration (B) affliction

(C) affectation

(D) No improvement

A sentence has been given inActive
/ Passive voice. Out of the' four
alternatives suggested, select the one
which best expresses the same
sentence in passive / active voice and'
mark your answer.

The men had constructdd.the bridge. -



68.

70.

73.

(A) The bridge has been constructe |
by the men

(B) The bridge was constructed b
the men

(C) The bridge was being
constructed by the men

(D) The bridge had been constructed
by the men

arE adAl A IRl F A F-

(A) 3mm@Evdl  (B) 3YERT

(C) 9 (D) W

=gq = 1 A & geEl AW T3

-

(A) 01 TR EY (B) AV T HIM

(C) i |y (D) 3fg L |

q TA-21e H. gE-ue s B

e o F T F-

(A) TH B TF TgH FMed T

(B) W8I W FgH! Wl

(C) 3T HeT F YA HLA

(D) 91t A & 9% THgE H 7
3HTT

Tt &1 vararE v I

(A) i (B) 9rarol

(C)@vg (D) BT
afrd—anita v &1 glagafa=neds
= T

(A) fa-%9  (B) aui-Frd

(C) rafus-vg (D) IAa-_T
g W qehed oo W8 A &
(A) ¥fFardt - (B) =R

(C) srqudt ~ (D) vy



74.

75,

76.

‘g didl g g Td A aen’’
frg yHR &1 AT ?
(A) 1 9199 '(B) T 9T

(C) |3 A (D) AT

Tq Y TNE H1 3 3R I H
G & SR 64 ¢ | 499 qE, A
H1 3 HT U 3 : 4 B0 | HhY
F G Y N E ?

(A) I15ad  (B) 18 aH

(C) 20@4 (D) 24 99

qfg 10 a3 F1 TG Yo d 9 aEgaN
% fawd 4o & U B, O 9 Al
w4 wfawrd s T |

(A) 115% T (B) ~=%

(C) ll)% 711 (D) 1?E% I



77.

78.

79.

80.

fopet a4 T 3 ad @ fae 14% Wi
Tff"-ﬁ"'{'ﬁmﬁm 235.20 F90
[+ [ = 1" - = A& r é-}
71 S &1 9% st fRadl @
(A) 720 T (B) 650 F9U

(C) 560 FTC (D) 43.015'1:!:
|0 HZT 4 |5 iz A @ JEAA

ﬂ?ﬁﬁméiwﬁ—ﬁ%mwm
Eﬁ;ﬁﬁ'l'?ﬁ’fﬂﬁ,?ﬂmqﬁd

() 12.5 5 (D) 13.5 2T

e Taa H 52% 2T fe=t H #n
a0 A S B A ZT A
79 A <A1 faaal § AL €0 A,

& =T faai W 3ol EEIIE I IGEIG
fra € ?

(A) 38% (B) 33%

(C) 23% (D) 18%

119 HieT, 153 HiZX 4 204 HIZT &=
QL | 3 Gl o fayrsa ¢ @l
Tt qE #1 A aers
& ?

(A)?Tﬁ?( (B) |7 2T
(C)34Tﬂ?{ (D) 51 et
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81.

82.

84,

& oA I ® fau | fEWO®
T 9T 900 UH FH AE HE H Al
R IHH A W fRa € 2

1
(A) 13% (B) 115%

(C) 11.25% (D) 'Eé%

A 2 + ke + 12 1 O x+ 3 E, A

k fra® auag & 2
(A) 8 (B) 7
(C) 6 (D) 5

I\ & e | 20% H FHH 2 |
TF Al 77 790 ° 3.5 fpm, a1fus
SEA TR WEA € | WEe # O
wd fRaat ot 2

(A) 4.00 ¥9T  (B) 4.50 ¥9Q

(C) 5.00 ¥4 (D) 5.50 Tqu

A 1400 F x% = 1197, A « FFaS
qUER T ?

(A) 17 (B) 28
(C) 3.§ (D) 7.5



85.

86.

87.

88.

31039 wramy % L. L. 1 @
235

A | @R M gy wdm #

fam v figgm

(A) 150 (B) 165

(C) 186 (D) 180

| |
-q& I+—".-=2 ﬁ’ a:| _I'H-I'“ CARRIE!

-

(A)O (B) 1

(c)2 (D) 3

P,Q 3R R& &I %o H=uf HAw:
5:7:9% Iqud W WA Wt #
3R P 3R Q& fewdl W 3= 556 ©
gl, al faawo Bg i uf¥n faraet o ¢
(A) 1050%.  (B) 973 %.

(C) 850%. (D) 5838 %.

400 X 39 Wyt B fagor o
10% 9t @ 1 afz fasor ¥ 80 ot
¥ e 5 sme, at fagor § g @6
gfaera &= gim ?

l "
6 — % ~0
(A) 1 o (B) 83/&

|
(C) IE’-;% (D) 16%



89. TS 3ad &l a3 40% 91 &1 &Q
YT I8 20% FH FT & A, qf 7
T FT HAFA—
(A).20% S ST
(B) 20% 9 & S
(C) 12% =& S
(D) 10% %4 & SI@m

90. 3t fo=t fAfy=a voa o 4.5% aifts
N B T F 1200 % H GERY
S 1800%. & WYURY A H 13°
% Y g, T THY TG Hife—

(A) 298  (B) 4°d

(C) 321' ad (D) Sad

91, U& TR g991 @ g1 H 4:5
FIuE § it o o, W S 6@
sud § atdt W 1 Ak @ g |
gAY F 6% F A9 g, q 98
ufer efi-

(A) 594%  (B) 630%.
(C) 540 %. (D) 735 %.

92, UF AAFER AFfA F 4TFA 500
i e & 1 afk gu! o, et
¥ 25% ofuss @, @ THel g
fom de st 2 \
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94.

95.

. " 96.

(A) 20 W1 (B) 25 Hiex
(C) 167X (D) 30 Hex
7aEms @1 3wd 302 | afz gy
3@l #1 3w 32 9 s 3

A 1 3l 28 7). @ e G
FM R 7

(A) 35 (B) 30

(C) 31 (D) 32

RO CA B BTV ) S o Oy
TH-30 H 10 F7¢ H 92 oy | oz
4 5 T w9 e 2 )
(A) 900%  (B) 1000%.

(C) 810%. (D) 90 =

8 WEmall w1 3ftwd 20% | T
e 3R T2 3 W afa 10% T2
S R, H’Iﬂém@nwgﬁﬁ ?
(A) 34 (B) 3

(C) 36 (D) 50

TH T H 1200 SIg® a9 90¢
Asfral aftaferd g1 399 80% we®
a1 45% cTefwar Iwivl ¢, @t el
et 1 wfgeg /= 22
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98.

990

100.

(A) 40.5%  (B) 35%
(C) 62.5% (D) 25%
oA AT ST 25% T 34 W q@vs

(A) 25.00  (B) 50.00
(C) 5025 (D) 43.75
X A1 y 1 T9] GHETT fhaan g 2

(A) Jxy (B) xy

© == ©) fx+y

Az fFet e daq # an H1
e ot 1 & S aaw 3EE
98 °§ F1 ofmd 7 fan 9 A
A 49 99T T Fd daq ® AFdAl
F1 SFIG F e 2

C(A) 1:2 (B) 1:4

(C) 4:1 (D) 2:1

afg 25 a3l F1 FI Yo 20 IEAT
% faFa qeg # T 2, @ famar
Fi fray wfawa @y zm 2

(A) 20% (B) 25%

(C) 15% (D) 22.5%



